
N = 253
253 circles in an isosceles right triangle

radius =   0.022944466814
ratio  =  43.583492618149

density  = 0.836866781673
contacts = 579
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N = 254
254 circles in an isosceles right triangle

radius =   0.022895468701
ratio  =  43.676764737174

density  = 0.836589986593
contacts = 575
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N = 255
255 circles in an isosceles right triangle

radius =   0.022858649079
ratio  =  43.747117187093

density  = 0.837184482178
contacts = 601
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N = 256
256 circles in an isosceles right triangle

radius =   0.022823354558
ratio  =  43.814768660558

density  = 0.837874142045
contacts = 584

 E.SPECHT &
D.A.PATERSON
18-MAR-2011

N = 257
257 circles in an isosceles right triangle

radius =   0.022778605996
ratio  =  43.900842753796

density  = 0.837851934930
contacts = 596
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N = 258
258 circles in an isosceles right triangle

radius =   0.022734369656
ratio  =  43.986264635771

density  = 0.837848330867
contacts = 595
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N = 259
259 circles in an isosceles right triangle

radius =   0.022695320702
ratio  =  44.061946210490

density  = 0.838208924496
contacts = 572
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N = 260
260 circles in an isosceles right triangle

radius =   0.022647631758
ratio  =  44.154727110736

density  = 0.837912764246
contacts = 423
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N = 261
261 circles in an isosceles right triangle

radius =   0.022610418449
ratio  =  44.227399075146

density  = 0.838373563927
contacts = 586
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N = 262
262 circles in an isosceles right triangle

radius =   0.022570701609
ratio  =  44.305224414688

density  = 0.838631707225
contacts = 558
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N = 263
263 circles in an isosceles right triangle

radius =   0.022529136858
ratio  =  44.386964591187

density  = 0.838734917059
contacts = 548
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N = 264
264 circles in an isosceles right triangle

radius =   0.022495082146
ratio  =  44.454160847240

density  = 0.839380666957
contacts = 592
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